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T.3H. = NuclearPhysics  IIndPaper . M.M.50
B L. 1. (37) (i) T T &0 o607 3 o Sebiet o R spifen ok
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SebIO o folT TR reret (b) Pt g e e s & :

| Discuss Rutherford's scattering - of alpha Ci-particles by nucleus and

show that the impact parameter (b) for O-particle (mass m, velocity V)

scattered through angle (0) by a riucleus of atomic number (z) is given by

o (e)
ze cot|=
b= i
2re,mv. ¢
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Write a short note on 'Nuclear Sf)in'. : § , GH’EIE]T /OR
() (i)mﬁ%aﬁﬁwzﬁrﬁmﬁmﬁmﬁﬁﬁﬁ?ﬁmw'wm

Rifer apr fereqrar ot ITY |
Mention various metho

describe Hafstadter's method.- < \ .
(ii) (e % rerebid &g Sl ﬁ@ﬁ%%@ﬁ%@ﬁ N
Write a short note on 'Magnetic dipole moment of nucleus.
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SISl a':'c”%fq [ - |
Describe the 'Liquid-Model of the nucleus and establish the semi-
g/ OR

iric formula. | |
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Describe. variation of binding energy per nucleon with mass number.

Explain spontaneous fission. | |

l gzgrg"rl)” 3. (1) (i) Ao fercira | &Tﬁ’l?ﬁ ‘(;’r.ﬁm:c.f) W.WW = ol

R0 | Explain transient and secular Cqull-bI'lun‘l inseries decay. :
(ii)Jufﬂzﬁzsraxsiawgm3.8?&?%#1%%&7%7%3@:;@@ o

ds for determination of radius of nucleus and
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Ifhalflife ofRadon js 3.8 days, then after hb\;v many days will Tlﬁ

ofthe Randon sample remain behind ? &t /OR
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].Explam.mg the need of centre of mass coordinate system in nuclear
reaction, write a note on it. | .

(i) Tirent srfufepar O TefieeT Trem) g e oo T A |
| Explaining 0-value equation innuclear reaction, solve it
- BRIV () (i) o-Retor vy 3 A G A A G & P -
OL-%h1T T Bl & ? GWemsy | What do you mean by 'fine structure’ in Ol-ray
spectrum ? Whatare long-range particle ? Explain.
| (ii)afWWB-WWﬁWWW | o
Differentiate between Ol-ray and B-ray spectrum. Fqr/OR
(@) (i)#ﬁzﬁaﬁw%g@mw@%%,?_aﬂ%mrﬁaﬁrwa@ | T
R & e sjae-siufbar R s o 2 & - i, e
What are the main parts of a nuclear reactor ? Explain their function.
How is controlled chaiii reaction achieved inareactor ? '

(i) ¥t Rt & I =0 % X 921 b1 e 6T
Explain the four factors ofneutron cycle in a nuclear reactor.

SER-V 5. (1) () Q%%@ﬁaaﬁaaﬁ,wamwﬁaﬁraﬂhmmgg
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Describe the. construction, working and derive formula for a linear
accelerator which shows Lnoyn.(Where symbols have their usual meaning.)
(ii) T 41 31 & ? AT %1 F4h Hisd QI | |
What are quarks ? Give the quark model of mesons. - S¥ar/OR
(a) (i)ﬂ?&{wﬁaﬁfﬂa@vqﬂﬁﬁmaﬁfmﬂmaﬁqﬁmaﬁm;
Using the conservations law, test the pr?babolhty of following Fransformatlon
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Write a short note on Isospin.
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